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Multiple Choice
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Q. No: 1 If Y (k+ a) = 6, then the value of « is equal to:
k=3

(a) (b) 3 (¢) 2 (d) -2
Q. No: 2 The average value of the function f(z) =sinzcosz on |-, 7] is equal to:

(@) 5 (b) (c) 1 (d) 0
Q. No: 3 The integral [ tan (2z)dz is equal to:

(a) StInfsec (2z)| +c (b) 5sec® (2z) + ¢ (¢) StInfecos (2z)|+c (d) 2sec? (2z) 4 ¢
Q.No: 4 If F (z) = / In (%) dt, then F'(2) is equal to:

1

(a) 41n 16 (b) 2In 16 (c) 4In 8 (d) 2In 8
Q. No: 5 The integral f]n (25“‘1’) dzx 1s equal to:

(@) sIn(2Q)sinz+c (b)) 275 %cosz+c (¢) —sinz+c (d) —(cosz)ln2+c
Q. No: 6 If f (2) = tanh™' (cos (3z)) then f'(z) is equal to:

(a) 3csc(3z) (b) — 3csc(3z) (0) T (d) 0
Q. No: 7 }:13 (ﬁ = #) 1s equal to:

(a) oo (b)) -3 (0) 3 (d) 0
Q. No: 8 To evaluate the integral | —=——=dz, we use the substitution:

VE— T

(a) u=+/2 (b) u= WYz (¢) 2= Ju (d) w=Jz

Q. No: 9 The integral ———dx 1s equal to:
1+sin=(x)
: = ” =T ¢
(@) === +c (b) tan"'(sinz)+c (¢) 7=——=+c (d) tanh " (sinz)+c

(Q. No: 10 To evaluate the integral f mjﬂdﬁj we use the substitution:

(a) z=+Tsech (b) x = TsecH () =T tand (d) z=+/Ttan¥

2



Q. No:

Q. No:

takes the form:

T 1)
(@ 2+3En Ostem Os+=2+SFF Dit+tatas
"2 cos @
: 12 The improper integral ———dx
” 0 Vsinzx
(a) convergesto — 2  (b) converges to 1 (c) converges to 2 (d) Diverges

: 13 The area of the region bounded by the graphs of the functions y = 2%, y = 2—2z°
1s equal to:

(@) 2 (b) 4 () (d)

: 14 The slope of the tangent line at the point corresponding to £ = 1 on the curve
given parametrically by the equations 2 =2t°+1 ,y=5t7—-1, -2 <t < 2 is:

(a) 3 (b) - (¢} £ (d) -
15 It a graph has polar equation r = 2secf, then its equation in ry—system is:

(a) =2 (b) y=2 (¢) z+y+1=0 (d) y:%

= a )
(R et

(] [y
eles

16 The length of the curve C': o = cos (2¢), y =sin(2t), 0 <t < 7 is equal to:
(a) 2 (b) 2m (c) m (d) 4

: 17 The surface area resulting by revolving the graph of the parametric equation
r=23t,y=23t, 0<t<1around the r—axis is equal to:

(a) 927 (b) 18y/27 (c) 244/2m (d) 22

: 18 If a point has xy— coordinates (z, y) = (1, 1) then one of its (r, f) — coordinates
1s:

@ @3 o () @) o

i

: 19 The slope of the tangent line to the graph of the equationr =2 at § = — T 1S:
(a) 1 b) -1 () 0 (d) oo

: 20 The graph of the curve C defined by the parametric equations z = 2+ cos (2t) ;
y=—1+sin(2t), 0<t< 7 isa:

(a) line (b) parabola (c) cardioids (d) circle



Full Questions

4
Question No: 21 Approximate the integralf v 77 + 1ldz using the Simpson’s rule with n =
0

4 (4]

Solution:

Let f(z) =va*+ 1

A e % |

gy =U0; Ty=1;, s =2; @a=3 and z =4 (1)

Rl

/ VE T Tde 20 1(0) + 47 (1) +27(2) + 41 (3) + FA)} (@)

3
=111 4+ 4(V2) +2(3) +4(v28) +v65} (1)
= 2{1+5 6568+ 6+ 21. 166 + 8 062 3}
= 2 {41. 885} ~ 13. 962
1
Question No: 22 Evaluate f dzx. 4]
Va2 +4z+5
Solution:
1 1
/ — dx :f dx (1)
Vi +4z+5 \/($+2)2_|_1
1
= du (withu=2z42) (2
= ) @)
=sinh ™' (u) +c¢
—sinh™ ' (z+2) +c (1)



1
Question No: 23 Evaluate / : sdr |6
(z¢49)

Solution:
Let x = 3tanf = dzx = 3sec®fdf (1)
/ 1 g f 3sec? f g
AL = 5
(22 +9)° (9tan?6 4 9)°
1 1
— — df 1
217’ sec? (1)
=57 | cos” el
1 1 + cos (26)
i ( > ) df (1)
1
:a(ﬂ +sinf cosf) + ¢ (1)
| x 3
S e —1 (—) 2
54(““ 3 +$2+9)+": (2)
sin” ! (In
Question No: 24 Evaluate / il $)d$ 5]
g
Solution:
Let u =Inx :}-du:%dx

N
-/Sm (IH$)dx :fﬁin_l (u)du
x
—usin ‘u++v1—uZ+ec

= (Inz)sin ' (Inz) + \/1 —(Inz)*+c




Question No: 25 Sketch the region R bounded by the graph of the equations y = o — 1,
r = 10 and y = 0. Find the volume of the solid generated by revolving the
region R around the y — axis. (Use any method) 6]

Solution:

Graph: (3)

1O 7

By Washer Method:

3
V = ’;'rf ((1[])2 — (y* + 1)2) dy = %ﬂ’. (241)
0

By Cylindrical shell metod:

10
W — gﬁf zy/x — lde = 22271 (2+1)
1



